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Read the following instructions carefully before you begin to answer the questions. This Booklet contains 120
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This Booklet contains in all 120 objective type questions with
multiple choice answers as detailed above. ;
Before answering any question, checkup the Booklet and ensure
that it contains 16 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately.

. The Invigilator shall supply you the blank OMR Answer Sheet

separately. Enter your Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle/oval provided on left side of the Answer
Sheet carefully by black/blue ball point pen only. You must also
write the name, date and center of examination and put your full
signature in the appropriate spaces provided therein before
answering any question.

. A machine will read the coded information furnished by you in

the OMR Answer Sheet. If the information so furnished by you
are incomplete or different from what have been given in the
application form, you will be awarded Zero mark.

. These instructions must be complied with fully failing which

your Answer Sheet will not be evaluated and Zero mark will be
awarded.

. Answer must be given by completely blackening one of the four

circles/ovals representing the correct answer given on right side
of the Answer Sheet corresponding to the relevant question
number by using Black/Blue ball point pen only. Answers not
shown by black/blue ball point pen shall not be awarded any
mark.

_ Failure to hand over the Answer Sheet to the Invigilator before

leaving the examination hall/room will make you liable to penal
action. :

. Read carefully the instructions of answering each question

before answering it.

. Answer the questions as quickly and carefully as you can. Some

questions may be easy and others difficult. Don’t spend too
much time on any question.

. No Rough work has to be done on the OMR Answer Sheet.

Space for rough work has been provided in the Question
Booklet wherever needed.

. You must not carry into the examination hall/ room any book,

mobile phones or electronic devices printed/handwritten papers
except the Admission Letter.

Failure to comply with any of the above instructions
will be considered as using unfair means and action as deemed
proper will be taken against the violators.
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Part-1 P-II-MABCS-JC-17

MATHEMATICS
SECTION-A: 80 Marks

Instructions : Each question under this section carries two marks. Please read each
question carefully and answer them by selecting the right one out of the multiple answers
given below each as A, B, C and D. :

1.

If the marked price of an article is 30% more than its cost price and 10% discount is given,
what is the percentage of profit?

a@ 6aI5N aQida AYE FAY SR FEll GRIOIQ 30% Y@ IS° G AUEQ 10% QS FaIAN,
6069 SCRGI MR 6QEG?

A) 18% B) 20% C) 15% D) 17%

In a school the number of boys and the girls is in the ratio of 2:3. If the number of boys is
increased by 20% and that of girls is increased by 10%, what will be the new ratio of the
number of boys to that of the girls?

0I5 GRUIRLER AFR G QRNIE 2GAIG 2:3 | 9@ AIRew A°HIG 20% Ia° AIRRIE AUIg
10% 9& Q@QITIN, 6569 QIRQ 8 QAIFAUF LR GOF AU 6R6S 6297
A)4:5 B)isegt to: C)8:11 D) 11:13

A starts a business with Rs.9000 and B joins him after 6 months with an investment of

Rs.45000. What will be the ratio of the profit of A and B at the end of year?

9000 65 @R6LIE @8 A 6GIGN LAIL QR AR & GIR 6 FIAAEQ 45000 SF1 GRS
@G B 601916901 | 9F 69669 A B B @ RIQQ UGG 6063 6297

A5 5 B) 5:2 @25 D) 5:1

A dealer marks his goods 30% above the cost price and then allows 15% discount on it. What

is the cost of an article on which he gains Rs.84/-?
G648 QYD GEIGIA Ra6Q 30% 6CRA OI'A FY JEaa MY EMET IQ° G AUEA 15%

G2 con @G @6Q | 691G GAU QUER 64 84 ORI MR KQEEM, 698 FRATA @aIQIC
6667

‘A) Rs.800 B) Rs.560 C) Rs.373.33 D) Rs.280

In a business, Rakesh invested 10% more than the investment of Mona and Mona invested
10% less than the investment of Rajesh. The total investment of all the three persons is
Rs.5780. Find out the investment of Rajesh.

6915 QUGAILER QAT 6C1IRI 26T 10% 2@ FR6AIT el 9&° 611K Ql6Rsa Gaeals
aBAIE0IQ 10% @ SR6aIs @RI | 86 FEFQ 6AI6 FR6AITR AGAIS 5780 OFI | AIEFHR
AR6AITR QIS Fela A9 |

ANO0U0 <1 i B) 2000 C) 2100 D) 2210

A Principal amounts to Rs.944 in 3years and to Rs.1040 in 5Syears. If each sum was invested
at the same simple interest, what is the prmc1pal'?

exled g 36 adeq 944 Tl 9e° AIF QE6Q 1040 oF @ | AG geuR QR6QIT AR
QI FIAEQ 62NN, 6669 RdaQ AQCE 6Q6G ?

A) Rs.800 B) Rs.991 . C)Rs.750 D) Rs.900

The difference between a two- digit number and the number obtained by interchanging the
position of the digits of that number is 54. What is the difference between the digits of that

number?
9@ QR U QI QI e° 698 YR AFANFT DI FTRIN CMYER Y Al AUSA VLR 54 |

6@ A°HIQ UK CIRIEA YEQQ ER6T 7
A)6 B)9 C) 15 D)21
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10.

11.

123

13.

14.

15.

16.

17.

How many numbers are there between 4000 and 6000 which are exactly divisible by 32, 40,
48 and 60? . _

4000 \98° 6000 €160 gaI 6R6GIT A°HdI 32, 40, 48 Ia° 60 FIRI A°Ydl VIER FRUFY 6297

A)2 B) 3 C)4 D)5

Gold is 19 times as heavy as water and copper 9 times as heavy as water. What is the ratio in
which these two metals shall be mixed so that the mixture is 15 times as heavy as water?

gql, 29Q 689 1998 9&° 67l 9@ G9Q 9 g6 | 699 2AQUGER AAL dIGY g A6R,
Fg615 9@ 8RaQ 15 g8 6297

A)1:2 ree B C)3:2 D) 6x16136 96w

A has double the money of B and B has 50% more money than C. If average money of all the

three persons is Rs.12000, how much money does A have?
B dISi6q gQl IR @@ Q8 A AIFiEq e° C AIGIER gl oI 50% 2@ B isieq 28 | 99

GF Rdw AIEq gl SFIQ AULIR 12000 O 99, 6069 A QISER 6060 o UF?
211006 315000 216000 316000
A) 116 B) i C) it D) atat

Two-fifth of three-eighth of a number is 24. What is 250 percent of that number?
6QIGN IR GF AV TR @R TZAIS 6298 24 1 62T A°HIQ 250 EEIe 6060 ?
A) 450 B) 400 _C) 300 D) 160

A, B and C invested their capitals in the ratio of 5:6:8. At the end of the business, they
received the profit in the ratio of 5:3:1. Find out the ratio of time for which they contributed
their capitals.

A, B 8 C 62010 q)aeq 5:6:8 2gUIesq SF6KI0 @6m | QIQQI9 6696Q 647I6e 5:3:1
QU MY JIREM | 6ACER FImIR SIETRYQ AR QAR Gda @a?

A) 12:9:7 B) 25:18:8 C) 5:6:8 D) 8:4:1
When 50% of one number is added to a second number, the second number increases to its
4/3. What is the ratio between the first and the second number?

6QIGN °GMHIR 50% Fo19 AHIEQ 619 R6M, T LT GI'Q 4/3 2°ag 9B | gaa 8
FOIU A°GMIQ UQAG 62607

A)3:2 B) 3:4 C)2:3 D) 6@163G 6w
Ifx +% = 2,then what is the value of x —% ?

Q0 x +— = 299,696 x — = QAN 6960 ?

A)O0 B) 1 C)2 D) -2

In an examination, 70% candidates passed in English and 65% in Mathematics. If 27%

candidates failed in both the subjects and 248 passed the examination, what is the total
number of candidates?

691G AQIBIEQ 70% GIgll RAURNIER 99 65% GEG6R ALY @6M | UG 27% I a0
QALER 6T 626M 9Q° 248 K¢l AQIYIER Al @6M, 6669 6¢1IQ ANV IT A°HYI 62697

A) 400 B) 348 C) 420 D) 484

A book seller sells a book at a gain of 10%. If he had bought it at 4% less and sold it for Rs.6
more, he would have gained 18% %. What is the cost price of the book?

@661 @@ T6q0I 665N Q2Q 10% MNEA FN6R | AT 62 B 4% @9 QIFea @8R 9e° 6

OFl 2R QF6Q A7 @GR, 64 18 % % MR FR2I2NIY | QLT DAL 626 ?

A)Rs.130 B) Rs.140 C) Rs.150 D) Rs.160

A sold a watch to B at 40% gain and B sold it to C at a loss of 20%. If C bought the watch for
Rs.432 at what price did A purchase it.

69lIGN ALIg A 40% MINSA B § 9e° B 20% 366a C @ @99 @nl | 9@ C a4i5q 432 oxi6a

QE, A GIq 6260 QREQ DAMI?
o e B) 315.71 C) 550.71 D) 250.71
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18.

19.

20.

21.

22.

23.

24.

25.

26.

A

What quantity of water should be added to reduce 6 litres of 50% acidic to 20% acidic water?
6 SR 27} 9RQ 50% ACRIQ 20% AGGIY AAREE KRG 6769 AN G99 FeIRLIg aPe?
A) 8 litre B) 9 litre C) 12 litre D) 9.5 litre

-When the price of sugar is increased by 20%, a house wife reduces consumptlon of sugar by

20%. What will be the effect on her expenditure on sugar?
oG @q 20% QF 62919, @64l Qe QIFa 68 S 20% 2L FACAEM | 6069 ATA 7 A6
JIFQ YRS K¢ 629 7

A) remain unaltered B) decrease by 20%
C) decrease by 4% D) increase by 4%

A certain sum amounts to Rs.12960 at compound interest in 2years and Rs.13176 in 3years.
Find out the percentage of rate of interest per annum.

6a61d R 99T QuER 9@ @F6q 12960 S@I 99 1a° GG adsq 13176 6@l 99 | QiFie
QIS AR G Q. | :
A) 1% B)2:% ) 12% D) 22%

Find the value 0fJ30 LA B0 e B0 D

jso + J30 + V30 + - Q RY 6966 ?

A)5 B) V10 )6 | D)7

(m-n)*+ (n-r)*+(r-m)3 _

(m-n)3+ (n—-1)3+(r-m)3
2 6(m-n) (n—-r) (r-m)

6(m—n) (n—r) (r-m)

= 6@6Q?

1 1 1k
A)z B); Oz D)+

What is the difference between the simple mterest and compound interest on Rs.5000 at 10%
per annum for 3 years?
5000 919 QIR 10% 26 3 T Ao QI 8° 099F QU F1:IER QleRY 69627

A) Rs.145 B) Rs.155 C) Rs.165 D) Rs.180

The average age of the students of a class is 15.8 years. The average age of the boys in the
class is 16.4 years and that of the girls is 15.4 years. What is the ratio of boys to girls in the
class?

66N 66911Q FIFRIFITIAT AQAULAR 99 15.8 QF | 643 64/41Q BIGFIRG AALIA 99 16.4
Qd 8° QARG AR 9 15.4 Qg 1 6069 69€I16Q 219 G |IYIw AQUIS 6X69 7

A) 12 : B)2:3 C)3:4 D) 6a163G 968
The marked price of a clock is Rs.3200. It is to be sold at Rs.2448 at two successive
discounts. If the first discount is 10%, what is the second discount?

69IGN QLA RS MY 3200 GF1 | 1LY 2448 SFIERQ GAIGS @RF QLG AR A FAUSINI |
QG 9291 QLIS 10% 62NN, 1L QLT AR 69697 :

A) 5% B) 10% C) 15% D) 20%

20 litres of a mixture contains milk and water in the ratio 5:3. If 4 litres of this mixture is
replaced by 4 litres of milk, what will be the ratio of milk and water in the new mixture?

20 QCeQ 9@ (g6 F1a 8 @Ra 2gale 5:3 | 9@ 4 Acq dg4Q 4 Aca QA Al Qe
QAUAN, o1 FIgeIca F1Q B IR AFAIG 6RE6S 6297
A)2:3 B) 4:3 C)5:3 DTS
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27k

28.

29,

30.

31.

32,

33.

34.

3S.

36.

Simple Interest for the sum of Rs.1230 for 2 years is Rs.10 more than the simple-interest for
Rs.1130 for the same duration. Find out the rate of interest.

1230 GFIQ 9@ 9 AR G, 1130 SFIQ AR 2RI QR YUOIR 10 SF1 AR | QUa 2AQ
Qo Q|

A) 5% B) 6% C) 8% D) 2%

The difference between the sale prices of an article with a discount of 30% and two
successive discounts of 20% and 10% on the marked price comes to Rs.72. What is the
marked price of the article?

6615\ aQida AYe FRY RA6a 30% QQIG ATe G99 MY 99° 20% 8 10% Q 92 9da
Q@6 a@c g9 (Y AU6R QY 72 SF1 | AT AYS FRY 60667

A) Rs.3600 B) Rs.3000 C) Rs.2500 . D) Rs.2400

What is the least number which when diminished by 7, is divisible by each one of 21, 28, 36
and 45°?

6QQ YGOF LHITQ 7 G6RIs K6m, G121 21, 28, 36 8 45 Il IR 629 ?

A) 1253 B) 1177 C) 1265 D) 1267

A and B invest in a business in the ratio of 3:2. If 5% of the total Profit goes to a charity and
A’s share is Rs.4275, then what will be the total profit?

A B B 665N QIR 32 A9UIeea 28 dRals @03 | 98 6718 AIRQ 5% QIGQU6Q
RGIAIN G° 427501 A QIS DI, A1 M\ OFI 6R607

A) Rs.8000 B) Rs.7700 C) Rs.7500 D) Rs.6500
What is the greatest four digit number which when divided by 10, 15, 21 and 28 leaves
remainders of 4, 9, 15 and 22 respectively?

699 CtRe Q88 QRN A°EIg 10, 15, 21 99° 28 ¢I9l QIIRER, NITETV D2IFEA 4, 9, 15
4Q° 22 Q@9 ? :
A) 9654 B) 9666 C) 9664 D) 9864.

The HCF and LCM of two numbers are 12 and 72 respectively. If the sum of the two
numbers is 60, what is one of the two numbers?

Q0% AWIQ 9AIg 8 RAIG A2AIFEF 12 8 72 | 9T i @ATQ 6QITTR 60 94, 656 GUR
6QlGT QG 66 ?

A) 12 B) 24 C) 60 D) 72

If X =2 ++/2 and Y = 2- v/2, then find the value of (X2 + Y?)

Q@ X = 2 +V24Q°Y = 2- /2, 6969 (X’ + Y))Q (4 Ada @4 |

A) 12 B) 14 C) 16 D) 20

If x>+ xiz - %, then what is equal to (x’ — %)?

sa67:2+ = =-199,6062 (x;— ) Q R 69667 gl ;

A) By i D) 6x194G 62

The population of a town is 126800. It increases by 15% in the 1* year and decreases by 20%
in the 2™ year. What is the population of the town at the end of 2 year?

666N ALR 6RIRA S 126800 | gaiel @d ¥l 15% & 99 9e° §o14 @8 20% @ALN |
FOIG AFQ IVER ALAR ERIRL Y 62652

~A) 174984 B) 135996 C) 116656 D) 145820

The average of temperature from Monday to Wednesday was 37°% and from Tuesday to
Thursday was 34°c. If the temperature on Thursday was 4/5"™ of that of Monday, what was the
temperature of Thursday? .

6ANNIROIQ FAURIR T4 AKIZIR SIAAIGI 37° C NS° AFRRIQOIQ JRIIR adys 34° C g
| 98 gQQIaQ GIAAIG 6QANRINA FITAIGIRQ 4/5 28l 4, JRAIAR FIACGI 6R6C 6297
A)35.5%¢ B) 34% C) 36.5% D) 36%
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37.

38.

39.

40.

A

In 4years, Rs.6000 amounts to Rs.8000. In what time at the same rate, will Rs.525 amount to
Rs.7007?

6000 6 610 @6 8000 6@l 24 | 69T QR 676E ANAER 525 FIQ 700 eFIg 9B
ARQ”?

A) 2years B) 3years C) 4years D) Syears

What will be the compound interest of Rs.16000 for 9 months at 20% per annum if
compounded quarterly? :

65r1de 099 Qi §aIER, 16000 CFIQ 9 FIAEE 20% ARER 99T Qe 6966 6297
A)Rs.2518 B) Rs.2520 . C) 2522 D) 2524

Madan purchased 40Kg of wheat at Rs.12.50 per Kg and 25Kg of wheat at Rs.15.10 per Kg.
He mixed. the two quantities of wheat for sale. At what rate should he sell to gain 10%?

aeQ F6AIGIN 98 6.12.50a0Q1 @96a 40 628 Ie° 6.15.10909 @Q6Q 25 2% G1e¢ Q&

| 399 KAeIg AaQ JRAIE deng 62 FdIR Rl | 10% AN *AAIY GIg 6 6REE QAR
Q0 @QQ? : :
A)Rs.13.25 B) Rs.13.50 C) Rs.14.75 D) Rs.14.85

There would be 10% loss if some rice is sold at Rs.5.40 per Kg. At what price per Kg should
it be sold to earn a profit of 20%?

38 clawq GeMIgiel g6 6.5.4009l dF6M 10% BE 629 | 20% MQ KRG 6Ig @eIYIA

go 6@60 owleq QRAIQ 6297
A)Rs.7.20 B) Rs.7.02 C) Rs.6.48 D) Rs.6

MATHEMATICS: SECTION-B: 20 Marks

Instructions : Each question under this section carries one mark. Please read each question
carefully and answer them by selecting the right one out of the multiple answers given below
eachas A, B, C and D.

41.

42.

43.

44,

45.

46.

A circle and a square have the same area. What is the ratio of the side of the square and the
radius of the circle?

6015 Q& NS° 661G AFETGR VLTR QAR | 656@ 6A@ QJeRAga QI 9e° AR AT
63d4Q AQAIS 6R6S 6297

A)Vm: 1 B) 1:V7 C)m:l D) I:w

Find out the unit digit in the Product of (268 x 539 x 826 x 102).

. (268 x 539 x 826 x 102) Q GIITRR IR LGS 60667

A)S B) 3 C) 4 D)2

Find out the LCM of 2/3, 3/5, 4/7 and 9/13.
2/3, 3/5, 4/7 4<Q° 9/13Q @QIQ@@Q aQ | :
A) 36 B) 1/36 C) 1/1365 D) 12/455

Which smallest number must be added to 2203 to get a perfect square?
22036Q 699 YGEN QG CATAER 6GIG Gelad A°el FAFAIRR?

Al B)3 C)6 D) 8
If x +y = 1, what is the value of x* + y’ + 3xy ?

QG x+y=1,606@ x>+’ + 3xy Q (R4 6@60?

s ) e B) 1 C)2 D)3

The difference between 78% of a number and 59% of the same number is 323. What is 62%
of that number?

609G A°HYIQ 78% K]° 59% F1UEQ 6w 323 | 6QE AR 62% EREG 627
A) 1054 B) 1178 C) 1037 D) 1159
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47,

48.

49.

50.

S1.

2.

53.

54.

5S.

56.

57.

58.

A-man, covers half ef his journey at.6: Km/hr and the remaining. half at 3; Km/hr. What is‘the

average speed of his journey?
F6E 6AIR Gl AIGIQ 2l QIS YLYE 6 FERNITCR 6266Q IG° UFF] 2l FLUYT 3 FeRIFiea

6Q6I6Q AIN | 6069 IR LNLTIG 6Q6! 68697
A) 9Km/hr B) 4.5Km/hr C) 4Km/hr D) 3Km/hr

Suresh barrowed Rs.800 at 6% and Naresh barrowed Rs.600 at 10% After how much tlme
both of them will have equal debts.

694 6% IR6Q 800 Gl IS° @6al 10% 2R6a 600 ¢ 996 FEM | 696 ATATER
FATRE QG VRS AN 6RY? .
A) 152 yr B) 14-yr C) 182yr D) 16z yr

The difference between the compound interest ‘and simple interest on a certain sum at 5% for
2 years is Rs.1.50. What is the sum?

5% 2106Q 2 9860 6a16d SFIQ G998 Qo IS° ARR ¥l AIER iR €.1.5009Q 94 | 64T
ORI AR 6960 ?
A) Rs.600 " B) Rs.500 C) Rs.400 D) Rs.300

If a shopkeeper sold a book with 20% profit after giving a discount of 10% on the marked
price, what is the ratio of cost price and marked price of the book?

A3 @64 6QIRIR1 69T G age m4 aaex 10% Q26 69@ 20% MR F6Q, TG Al

My 9Q° MYS i QU0 69697
A) 6:5 B) 5:6 C)3:4 D) 2:3

IfA:B:C=2:3:4,theni: = Lo 9
BAK B

QG A:B:C=2:3:14,6969%: =1 <=
A) 8:9:16 B) 8:9: 12 C) 8:9:24 D) 4:9:16
What will be the remainder when 19'” is divided by 20?

191§ 20 GIQ QUINEN AUGEIT 6260 6297

A) 19 B) 20 C)3 D) 1

If p+ q= 10 and pq = 5, what is the numerical value of S + % ?

Q@ p+q=109e°pq=>5 Y, 6669 g + % Q dI°'G@ (MY 62697

A)22 B) 18 C) 16 D) 20

Ifa®+ | = a, what is the value ofa'> + a° + 1 ?

QG a’+1=a, 6069 a” +a°+1Q (ny 60697

A)2 B) 3 C)-3 D) 1

If 90% of A=30% of B and B=X% of A. what is the value of X?
Q]QAQ9O%—BQ30%\’1Q°B—AQX%,G@GQXQ?]@HGG?G@?

A) 600 B) 800 ' C) 300 : D) 900

The average of 4 consecutive even numbers is 27. What is the greatest number?

QI0G 9@ YYAHIIQ LIALIA 27 | 92Q AHIIET 69607

A) 28 : B) 26 o, O ; D) 30

A certain sum becomes 8 fold in 15years at simple interest. What is the rate of interest?
ealeid IRe @ guex 15 Q@GQ 2O g8l B4 | PIA 2R 6R6L7? S

A) 461% B)46 % ool e C)=465% D)463i%
If a sum of money at compound interest amounts to thrlce in 3years, in how: many years will
it be 9 times?

QAQ @@Q@ 2SS ealed Fmee 3 qd6q &6 Qél 29, 6@6Q QE6Q 69T o1 9 %lé‘l 6@97
A) 12yrs. B) 6yrs Sk C) 9yrs v ‘D) ISyrs
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59.

60.

A

A reduction of 20% in the price of Sugar enables a man to purchase 4Kg more for Rs.280.
What is the original rate of sugar?

08 @Q6a 20% LA 641G F66l Q4B 280 TFIER 4 6@ AR OF @&iQIg ANE g9 | FAQ g
QR 69667

A) Rs.10 Per Kg B) Rs.17.50 Per Kg C) Rs.20.5 Per Kg D) Rs.24.5 Per Kg
A, B and C entered into partnership in a business. A got 3/5 of the profit. B and C distributed
the remaining profit equally. If C got Rs.400 less than A, what was the total profit?

A, B 8 C §i8 6615 Q49 2102 293 | A QIR 1A 3/5 2°¢ Al | B ¥e° C 2938 AIag
QAR VA QI§6REM | AT C, A 0IQ 400 6= @€l AIRRI, AYRIS NN 6R6S 62M |

A) Rs.1600 B)Rs.1200 - C) Rs.1000 D) Rs.800

Part-11 ; BASIC COMPUTER SKILL

SECTION-A: 80 Marks

Instructions : Each question under this section carries two marks. Please read each
question carefully and answer them by selecting the right one out of the multiple answers
given below each as 4, B, C and D.

61.

62.

63.

64.

65S.

66.

A user wishes to remove a spreadsheet from a workbook. Which is the correct sequence of
events that he will do for this?

" A) Go to File-Save As, Type -Excel worksheet

B) Right click on the Spreadsheet tab and select Delete
C) Right click on the Spreadsheet and select Insert-Entire Column

D) None of the above

WYSIWYG stands for -

A) What you see is what you get B) What you smell is what you get
C) Where you suspect is where you go D) None of these

An output device translates - :

A) the processed information from computer into a form that human can understand.

B) the data and programs that human can provide into a form that the computer can process.
C) It never translates.

D) None of these.

What happens when you press Ctrl + X after selecting some cells in Excel?

A) The cell content of selected cells disappear from cell and get stored in clipboard.

B) The cells selected are marked for cutting.

C) The selected cells are deleted and the cells are shifted left.

D) The selected cells are deleted and cells are shifted up.

Which of the following describes how to select all the cells in a single column?
A) Right click on column and select Pick from list

B) Use data-- text to columns menu item

C) Left click on the gray column title button

D) Pressing Citrl +A on the keyboard

Match the following.

1. Scanner A. Input Device

2. OCR B. Output Device

3. Light pen

4. Printer ‘

A) 1A, 2B, 3A, 4A B) 1A, 2A, 3A, 4B
C) 1A, 2A, 3B, 4B D) 1A, 2B, 3A, 4B

P-ll-MABCS-JC-2017 ¢9) POy



67.

68.

69.

70.

71.

70048

735

74.

75.

Match the keyboard shortcuts with the command and find the correct combination.

a) End i) End of document

b) Alt + End ii) End of line

c¢) Ctrl + End iii) End of window

d) Alt + Ctrl + Page Down iv) End of the row in the table

A) a-i, b-iii, c-ii, d-iv B) a-ii, by, c-iii, d-i
C) a-ii, b-iv, c-i, d-iii D) a-iv, b-iii, c-ii, d-i

Drop Cap is used in document of MS Word?
A) To drop all the capital letters

B) To automatically begin each paragraph with capital letter
C) To begin a paragraph with a large dropped initial capital letter

D) None of above

One kilobyte = bits.

A) 1250 B) 2088 C) 8192 D) 1000

To edit a chart, we can- '

A) double click the chart object. B) click and drag the chart object.

C) triple click the chart object. D) click the chart object.

Match the key board shortcuts with command and find the correct combination.
~a)Ctrl +C i) Save

b) Ctrl + B ii) Cut

¢) Ctrl + X iii) Bold

d) Ctrl + S iv) Copy

A) a-ii, b-iii, c-iv, d-i " B) a-iv, b-iii, c-i, d-ii

C) a-ii, b-iii, c-i, d-iv D) a-iv, b-iii, c-ii, d-i

Which option will be used to join some cells and place the content at the middle of the joined
cell in MS Office word 2007 and onwards?

A) From Format Cells ciialog box click on Merge Cells check box. .

B) From Format Cells dialog box select the Center Alignment.

C) From Format Cells dialog box choose Merge and Center check box.

D) None of these

In Data Base Management System (DBMS), each table is made up of columns and rows
called and  respectively.

A) Fields and Records B) Records and Fields
C) Query and Forms D) None of these

How can you select the text without using the Mouse?

A) It is not possible

* B) Use the F7 key

C) Use the arrow keys while holding down a Ctrl key
D) Use the arrow keys while holding down a Shift key

You can use the horizontal and vertical scroll bars to-

A) split a worksheet into two panes.

B) view different rows and columns to edit the contents of a cell.
C) edit the contents of a Cell.

D) view different Worksheets.
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76.

)5

78.

79..

80.

- 81.

82.

83.

Which of the following functions is not performed by the 'Operating System'?

A) Co-ordinates and controls memory, processor, storage and peripheral devices.

B) Works as interface between the user and the computer system.

C) Loads and runs the application programs.

D) The Operating System complies “C” programs.

Which type of charts can 'EXCEL' produce?

A) Line graph and pie charts only B) Only line graphs

C) Bar charts, line graphs and pie charts D) Bar charts and Line graphs only
You can create a new presentation by all of the following except-

A) Clicking the New Slide button and then selecting the required slide on the standard toolbar
B) Clicking New from the File menu

C) Clicking Open from the File menu

D) Pressing ctrl + N

The size of the Organization chart object in MS Power Point-

A) is determined by the presentation design and cannot be changed

B) is determined by the presentation design but can be changed in Powet Point

C) is dependent on the amount of text within the Organization chart

D) Both B and C

Which of the following statements about the difference between virus and a worm is false?
A) A virus corrupts and changes the location of files; but a worm usually does not.

B) A virus enters into and infects a file or executable program as they run; but a worm does
not usually infect files or programs, rather replicates itself and consumes space in the
computer memory.

C) A virus spreads only when the user transmits the infected files to other users; but a worm
spreads to other systems without even user intervention.

D) A virus spreads in the computer systems faster than a worm.

‘Save As’ dialog can be used-

A) for saving the file for the first time B) to save file by some alternative name

C) to save file in format other than Word D) Any of the above

Which of the following syntax is correct regarding use of SUM function in Excel?

A)=SUM(A1,B1) B) =SUM(A1:B9)

C) =SUM(A1:A9, B1:B9) D) All of these

Match "Column A" with 'Column B".

Column A Column B

a) Software 1. A set of computer programmes that enables

hardware to perform different tasks.

b) Processing 2. Transforming data into information

c¢) Operating system 3. The presentation of a fact or idea
(unprocessed information)

d) Data 4. Any part of the computer that you can physically
touch.

e) Hardware 5. The most common type of system software that
controls the way in which the computer system

~ functions
A) a-1, b-2, ¢-5, d-3, e-4 B) a-4, b-2, ¢-3, d-2, e-1
C) a-3, b-5, c-1, d-2, e-4 D) a-2, b-4, c-5, d-1, e-3
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84.

8s.

86.

87.

88.

89.

90.

91.

92.

What happens when you delete a text box object from a slide in PPT?

A) The object is deleted but text box and the text inside is left on the slide.
B) The text box is deleted and the text is pasted on the slide.

C) Both the text box and text are deleted.

D) None of the above

A worksheet is made of columns and rows, wherein-

A) columns run horizontally and rows run vertically

B) columns run vertically and rows run horizontally

C) the run is dependent on the application being used

D) Both B and C .

Match the keyboard shortcut with command

(@) Ctrl + A (i) Print

(b) Ctrl + P (ii) Paste

(c) Ctrl +V (iii) Select All

(d) Ctrl +Z (iv) Undo

A)a-i,b-ii, c-iii, d- iv B)a-iii,b-1i,c-ii,d-iv
Chra 2iv; blifiie - i -1 S Dla -1 b= fil, g 1y 48

The purpose of Undo button is to-

A) restore a deleted file from the disk.

B) remove both the existing text and the previous one permanently.
C) remove the existing text and restore the pre-edited text.

D) all of the above

Read the following statements and answer which of these is/are correct.using the codes given
below.

i. The 'Save As' dialog box is used to open a saved Excel file.

ii. The 'Save As' dialog box is used for saving the file for the first time.
iii. The 'Save As' dialog box is used for saving the file by some alternative name.
A) only i correct B) i & ii are correct
C) ii & iii are correct D) None of these
What is gutter margin? ‘

A) Margin that is added to the left margin when printing

B) Margin that is added to right margin when printing

C) Margin that is added to the binding side of page when printing

D) Margin that is added to the outside of the page when printing

What do you mean by “what-if”” analysis?

A) The process of observing the effect of changing one or more cells.
B) The process of adding more cells.

C) Excel does not have such function

D) The process of comparing two cells.

A red wavy line under a word indicates that the word

A) is too long for the line of text

B) is not in the dictionary file and therefore might be misspelled.

C) is not appropriate for‘that particular sentence

D) is a verb

Which of the following commands is not applicable in MS-Word?

A) Ctrl + I to italicize the selected text B) Ctrl + B to bold the selected text
C) Ctrl + U to underline the selected text D) None of the above
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93.

94.

93

96.

97

98.

99.

100.

A clipboard is-

A) used to save data on disk in the event of a powerful failure

B) able to retain the contents even when computer is switched off

C) available only in Microsoft Word

D) a storage in the computer memory for temporarily storing the cut or copied data.

Selecting the Columns G and H and choosing Insert->Column will lead to-
A) 2 Columns will be inserted after Column-F

B) 2 Columns will be inserted after Column-G

C) 2 Columns will be inserted after Column-H

D) 2 Columns will be inserted after Column-I

What do you mean by trigger in the context of animations?
A) An action button that advances to the next slide

B) An item on the slide that performs an action when clicked
C) The name of a motion path

D) All of above

What is the term used when you press and hold the left mouse key and move the mouse
around the slide?

A) Moving B) Monitoring C) Dragging D) Highlighting
“Ctrl + Right Arrow” is used to-
A) move the cursor one word to the right. B) move the cursor to the end of the line.

C) move the cursor to the end of the document. D) move the cursor one Paragraph down.

Match the appropriate application software with their respective functions and find out the
correct combination.

a) MS-Word i) Database Management

b) MS-Access i) Word Processing

¢) Power Point iii) Spreadsheet ‘

d) Excel iv) Presentation of slides

A) a-iv, b-iii, c-ii, d-i B) a-ii, b-iii, c-iv, d-i
C) a-ii, b-iv, c-i, d-iii D) a-ii, b-i, c-1v, d-iii

What is/are the function/s of a backup?

A) To restore the backed up information.

B) To retrieve the system files.

C) To restore the system in the event of a system crash or failure
D) All of the above

How do you change column width to fit the contents?

A) Single-click the boundary to the left to the column heading
B) Double click the boundary to the right of the column heading
C) Press Alt and single click anywhere in the column

D) All of above

B.C.S.: SECTION-B: 20 Marks

Instructions : Each question under this section carries one mark. Please read each question
carefully and answer them by selecting the right one out of the multiple answers given below
each as A, B, C and D.

101.

102.

Which file format can be added to a Power Point show?
A) .gif B) .jpg C) .wav D) All of above

VIRUS stands for-
A) Virtual Important Resource Under Search ~ B) Vital Information Resource Under Seize
C) Veritfy Interchange Result Until Source D) Very Important Record User Searched
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103.

104.

105.

106.

107.

108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

Where was India's first Computer installed and when?

A) Indian Institute of Technology, Delhi, in 1977

B) Indian Institute of Science, Bangalore, in 1971

C) Indian Iron & Steel Co. Ltd., in 1968

D) Indian Statistical Institute, Calcutta, in 1955

Personal digital Assistants and Smart phones are the most widely used..........
A) Handheld Computer - B) Minicomputer

C) Supercomputer D) None of these

If you need to edit "Header" or "Footer" of a document which menu/tab should you access in
MS Office word 2007 and onwards?

A) Insert B) Edit C) View D) Tools

What is the default format for saving a word document in MS-Word 2007 and above?

A) .doc B) .docx C) .txt D) .demt

Find and Replace utility is available in

A) MS- Word B) MS- Excel C) MS- Power Point D) All of the above
What is the formula to be used to add two cells (A1l and A2) in MS-EXCEL?

A)=A1+A2 B) =Add (A1+A2) C) =Together (A1:A2) D) Al plus A2
Which command will you choose to convert a column of data into row in MS Excel?

A) Cut and Paste B) Edit>> Paste Special >> Transpose

C) Both of the above D) None of the above

To select one hyper link after another during a slide presentation, what do you press?

A) TAB B) Ctrl +K C) Ctrl +H D) All of these
Which short cut key inserts a new slide in current presentation?

A) Ctrl + N B) Ctrl+M . C) Ctrl+S D) All of the above
Which of the following one is in correct order?

A) Megabyte >Kilobyte >Byte >Bit B) Kilobyte >Megabyte >Byte >Bit

C) Byte >bit >Megabyte >Kilobyte D) None of these

The term QWERTY keyboard means the keyboard layout of the  alphabetic characters
found on the top row of keys displaying letters. :

A) First Six B) Last Six C) First Three D) Last Three
Which of the following can be used to animate how the presentation moves from one slide to
the next.

A) Transmission B) Transitions C) Translation D) Transformation
What process should be used to recall a document saved previously?

A) Copy B) Save C) Open D) Enter

What is the shortcut key you can press to create a copyright symbol?

A) Alt +Ctrl +C B) Alt+C C) Ctrl +C D) Ctrl +Shift +C

Portrait and Landscape are:
A) Page Orientation B) Paper Size C) Page Layout D) All of the above

Formatting option is available in which menu in MS-Excel?

A) Format B) Edit C) Windows D) File
Which of the following is an instruction to calculate or process data in MS Excel?
A) Worksheet B) Formula C) Range D) Text entries

In Microsoft Power Point two kinds of sound effect files that can be added to the presentation
are

A) WAV files and MID files B) WAV files and GIF files
C) WAV files and JPG files D) JPG files and GIF files
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